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B.Com. (Gen/Res) DEGREE (CBCS) EXAMINATION, OCTOBER/NOVEMBER 2018..
(Examination at the end of Third Semester)
Part II — Core Paper
BUSINESS STATISTICS
(Regulation 2015-2016)

Time : Three hours : Maximum : 75 marks
SECTION A — (5 x 5 = 25 marks)
Answer any FIVE of the following questions.

1. Discuss the importance of Statistics.
Kezro83Ya00 QA% [Fr050.

2. Tabulation.
53858

3. Discuss the merits of A M.

eaoééoézséo:m Q) (DE3ITSesTeeD.

4. Range.

Q.

5
5. Standard Deviation.

ErRIee3E DIODIW.

6. Difference between Correlation and Regression.
BIPH0W0E0, [PBHRB0 Jo¢s 2een.

Objectives of Time Series Analysis.

-~}

SoREe B, Bgairen?
8. Explain Index Numbers.

B9 Bogged 2580%0&.



SECTION B — (5 x 10 = 50 marks)
Answer ONE from each Unit.

UNIT L
Draw a percentage Bar diaéram.
Expenditure : Food Cloth Fuel Rent Education Others
Rs. : 330 108 30 72 48 42
TEre erb Do) Adhod
PEnev: 53880 Sodoen c:lelalNle) eog BDEVY) :12Te N POIOV)
5. - 330 108 30 72 48 42

Or

Draw a Histogram, Polygon curve.
TR AD A D58y 08020 HBoBos.

X: 10-20 20-30 30-40 40-50 50-60 60-70 70-80
f: 15 35 70 50 30 20 15

UNIT II

Find a median.

RVARGRISEY B8);0508.

Class : 0-5 5-10 10-15 15-20 20-25 25-30 30-35 35-40 40-45 45-50
@BSKSD) '
Frequency : 5 15 21 27 33 22 13 9 7 6
(@é:@ééo)

Or

Calculate mode.

EPTRIVEIO SR Ho%w.

X: 0-4 5-9 10-14 15-19 20-24 25-29 30-34 35-39 40-44
f: 8 10 11 13 25 13 10 5 5

UNIT 111

Calculate Karl Pearson’s skewness.

528 DoY) PROF0R B 0508,
X: 0-~-10 10-20 20-30 30 —40 40 -50 50 —-60 60 ~70 70-80
f: 10 15 20 30 10 10 3 2

Or
2 (3*02BST15)



12.

13.

(b)

(a)

(b)

(@)

()

Find (Bowley’s skewness) :

FO Diogand> B8)0B08.
X: 0-10 10 - 20 20 - 30 30 - 40 40 - 50
f: 5 12 20 1 5
UNIT IV

Compute Regression equations from the following data :

08 a2 8080 0& Bocd (FKHHLND JAESEINVO B) 0906,

X: 30 40 75 60 OS50 42 70 72
Y: 40 25 35 40 65 52 60 35
Or

Compute Spearman’s rank correlation.

BKD $80Td8 )b c°§o§' DIPHow0o B8) 0908,

X 1 2 3 4 5 6 7
Y: 8 9 5 4 3 10 1
Z: 2 3 1 5 7 6 9
UNIT V
Fit a straight line trend by using least squares method.
3 ST ;’)g@ o°o° :\’)66333" (9)BD B88),0906.
Year: 1996 1997 1998 1999 2000 2001
QOSBYT°
Cost : 8 10 12 6 8 12
D0
Or

2002

14

50 - 60
2
9 10
6
4 10
2003 2004
16 18

Calculate Fisher’s ideal index from the data given below and show that it satisfies Time

Reversal Test and Factor Reversal Test.

DB e3¢5y Jed Doy B8,00 SPe IBIEH I8, SEEe IBIYD I8 Kot DoBIER HerY

Bafo.
Items F, Q@ R @

1 10 4 12 3
2 4 4 4 4
3 2 5 5 6
4 15 6 20 5

(3*02BST15)
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15.

16.

17.

18.

UNIT IV

Define ‘Banker’ and ‘Customer’? Explain a special
relationship between banker and customer?

“ergo88y” LBAL “PrErTrio” dEDoD T8 Gy

VoG |5B5E DoOFERY JHB0BoE?

Or
Explain the rules to be followed by a banker while
opening an account in the name of a partnership
firm?

ARSIy B0P DY PrETRE0PODWIPELd 505
oEI0VHOND DADIT O BO[0G.
UNITV

Explain the duties and responsibilities of a
collecting banker?

DATCED w‘éoé) o'lnéb DEoe  DBas arc‘;séée)m
dolosk.

Or
Who is holder in due course? Explain the rights of
holder indue course?

SOEDNTS  OHTRIN?  SOENrSH 9ok
FoE,00 BAHEAOE?

4 (3*02BTP15)
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B.Com. (Gen) DEGREE (CBCS) EXAMINATION,
. OCTOBER/NOVEMBER 2018.

(Examination at the end of Thh:d Semester)
Part — II
BANKING THEORY AND PRACTICE
(Regulation 2015-16)
Time : Three hours Maximum : 75 marks
SECTION A — (5 x 5 = 25 marks)

Answer any FIVE questions.

1. State meaning and definition of a bank.
a?§o§) eﬁg:n) 20B8AL DYGHHD[0 delos.
2. What is a public sector bank?
[DEOHIBOK 27505 LIJITDA?
3.  What is ‘RTGS?
RTGS’ &2
4.  Define a branch banking.
12709 27°5080AR) DYSHIIN BoSs.



(o1

=1

10.

What is an EXIM bank?
‘EXIM’ 25505 9 OTD?

What are the objectives of Regional rural banks?

(Fr0BAD (e w°§o§ae>. SBoo¥), PO BEVHIN?

Married Women-Banker relations.

;’)miréé—arswdo Doogren.

Responsibilities of a collection banker.

SdTeen ay°§o§do &oﬁb a5°<‘{>§éeu.

SECTION B — (56 x 10 = 50 marks)
Answer ONE from each unit.
UNITI

What i1s the bank? Explain the functions of a
commercial bank.

2roH) GRTRN? Tedey WoHe BY, O
B0,
Or

Explain various functions of central bank.
B0l ergod B0, DIV BVYDW.

2 (3*02BTP15)

11.

12.

13.

14.

UNIT II

What is Investment banking? Explain the
functions of an investment banking?

beq&o)a)& a7°§o§oﬁ @:émiﬁm?i)&gao& g By,
D050 BEIHIN?

Or

What is E-Banking? Explain the stages of
E-Banking?

“E” w§o§oﬁ pIman? “E” EJ°§O§ORQSSK) FAT TSN
DV ?

UNIT III

What is a regional rural bank? "Explain the
functions and problems of regional rural banks.

Pr0BAD A 2o R DW? @rodah memsé
250500 DGO HIBASL FBVZORO 2H580%06%.

Or ‘
Explain the functions of “EXIM” bank?

“EXIM” e3505 G3008), dgoen 2580%04&.
3 (3*02BTP15)
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B.Com. (Gen/Res) DEGREE (CBCS) EXAMINATION, OCTOBER/NOVEMBER 2018.
(Examination at the end of Third Sémester)
Part I1 : Core Paper
CORPORATE ACCOUNTING
(Regulation 2015-2016)

Time : Three hours Maximum : 75 marks
SECTION A — (5 x 5 = 25 marks)

Answer any FIVE of the following questions.
1. What is share capital? Explain the main divisions of share capital.

ToET® ITOGN0 DT IDO? T HTOEH0 B, [HE°D e dHBoBoE.

1o

Difference between bonus shares and right shares.

SO0 Teren DB TPEN© TEreL) By HyEyTen.

3. Explain the concept and process of book-building.

20§ DR 50 DaBok (HEAHOD 9HB0H)H.

4. What is buy back of shares? What are its objectives?

Teeren SR §TR0R"eD eI D202 TR OFT5RY J0E3?

5. Need for valuation of shares.

TeeT°) éoJ*’eréoézé &9;5%55@‘9.

6. What is a debenture? Explain the various methods of redemption of debentures.

SBoDKE /M DA DD Bsee &5065@ AT :)géoom DHBoVOE.

_\1

Divisible Profits.

deredad everen.

8. What do you understand by ‘Provision for taxation’? What factors are to be considered while
estimating it?

D30 Bera00 I BFN? DOV LOBT> JWLPE O ooy B/ SRS d.



10.

SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit
UNIT 1

Y Ltd. Company offered 55,000 shares of ¥ 10 each payable as follows :

L4
On application 3
On allotment 4
On first and final call 3

All the money was duly received with the exception of the call ¥3 per share on 820 shares
which were forfeited. The shares were issued at ¥ 6 per share. Pass necessary journal entries
and show how these transactions would appear in the balance sheet of the company.

Y Ltd Eo0d orer 2538 &5°.10 dend XORD 55,000 Trerorn 278 DD 1808 H5000 sranmres®
390 LS oS (S8R §°608.

8.
FEPPRE” _ 3
Zeronon&’ 4
2006563 508050 958 DenHE 3

820 Trered @), end) Er. 3 Trer a8l 8 ©f) TToEEe Qo6 Ry HRer Ba08 T

2.8),0638 &6 TR 2578 DR BVIBID Ve SEVO 7D E0D @BE); &) VPO 563D BT
oS [ @ —0 @

DoHoé.

A company is planning to raise funds by making rights issue of equity shares to finance its

expansion. The existing equity share capital of the company is ¥50,00,000. The market value

of its share is ¥42. The company offers to its shareholders the right to buy 2 shares at I 11
each for every 5 shares held. You are required to calculate:

(a) theoretical market price after rights issue
(b) the value of right
(c) percentage increase in share capital.

2.8 Bowd K)F_()DaoéczoeSG ésgogeg Toe0® PE)© TT° DEOORD DAEBODHLITS (DETYEL éoi)‘“d)lﬁé_oooa
S0 oY), B8 Seded Ter Bureesn - §°.50,00,000 T 57,65 deod - &7 42 $03
199 5 Treroin Trer 2.57,0638 11 FTpd 2 Treren SRR ey 75, Termriiod @o808 P Jdore
¥:3£0508° 808 T30 B8 0Hd%.

(a) e erB BETB PIrodE B85 B8

(b) S5, Dend

(€) TP AIPeHN0StR B0 DEKSE.

1o

(3%¥02COA15)



11.

12.

13.

UNIT 11

Suresh Ltd. having 500 employees grants 2 options to each employee on 1.4.2010 at ¥60. The
vesting period is 2% years. The maximum period is one year. Market price on that date 1s

290. 450 employees exercised their options on 30.09.2013. Write journal entries, if the face
value of equity share is Rs. 10 per share.

2585 OBE 500 2008 &EHOH (5O &EAS 2 ePRy .60 o 1.4.2010 TBE Do
Juso. AaD Sedn BotoRl NodEyrey  ABY SO af NodEEHm. © T3 5B
&5 -8 90 30.09.2013 % 450 &S yHes e3P EIBTAODEIR. Haieed Tere H0P Devd
2.5638 67,10 @000/ DG Deg HEOD @A0d.

Give journal entries for Issue and Redemption :

(a) Issue of ¥90,000, 13% debentures at par and redeemable at par.

(b) Issue of ¥90,000, 13% debentures at premium of 10% and redeemable at par.

(c) Issue of ¥90,000, 13% debentures at a discount of 10%, redeemable at par.

(d) Issue of ¥90,000, 13% debentures at par and redeemable at 10% premium.

(e) Issue of ¥90,000, 13% debentures at a discount of 10% and redeemable at 5% premium.
The face value of debenture is ¥ 100.

808 250708 &8 080k FITDTRS Der Heyen FPAod

(@) 13% &BodY 83.90,000 Hevd S Sudureryds &8 S8ty FRBITergOs JBTBBHL.

(b)  13% &BoBY 83°.90,000 devsd 50 10% (HD00$05 &8 S0Basky SRBITTerE JATBHS.
(©) 13% &Bobdg 63°.90,000 dend K0 10%, GA,065% &8 Ho8ak) FoHTerd8 JATSHH0.
(d) 13% &BodY 8.90,000 De0d 0910% [DACH0LH IDIEDIKW.

(€)  13% GBodY &.90,000 de03 0 10% 30,0655 &8 208050 5% [DAAHOKH TATHBH0.

&aobg BooE); dg deud 87100

UNIT III
The following is the balance sheet of ‘Padmavathi’ Company Ltd. as on 31.03.2016.
Liabilities Am;unt Assets Am;unt
Equity share capital : Buildings 4,40,000
20,000 equity at 10/- each 2,00,000
20,000 equity at T8 1,60,000 Current assets 2,30,000
20,000 equity at 5 1,00,000 Preliminary expenses 10,000
Reserve 1,00,000
Profit & Loss a/c . 1,00,000
Sundry creditors 20,000
6,80,000 6,80,000

3 (3*02COA15)



14.

Additional Inforrnation :

(a)
(b)

The normal average profit of the company (after tax) will be 92 000.

Normal rate of return is 8%.

Calculate the value of equity share by :
(i)  Asset backing method.

(11)  Yield method.

31-03-2016 5 Sodd 5000 dWBE 778 &) efpe 563 308 dEorr &od

PV 8. esRen
éeéogeg TP DTV R0 | Y
20,000 &e8ged 85°.10 ST 2,00,000
20,000 &68ed 7.8 S5 1,60,000 Soeoen

20,000 e8ed 87,5 S5

1,00,000 2808 pnen

Bessth 1,00,000
egs é;ge) o 1,00,000
DDE 2200830 20,000

6,80,000

€9¢5R5) PRTPWPEAN:

(a)
(b)

F\/)o?‘;) RBoE); pedes e ergfo (5?63& BSOS So°. 92,000 &oexnod.
eSes B8eaB) Bew 8%.

568583 Tere Dendd (808 Te3S” BE) 0B :

(1) DES s ;’)g@.

(i) Brwd 558,

The following are particulars of Mahesh Pvt. Ltd. :

(a)
(b)

(0)

Capital invested — 50,000.

.Trading results :

2013, Profit — ¥ 12,200
2014, Profit — ¥ 15,000
2015, Loss — ¥ 2,000
2016, Profit — ¥ 21,000

Market rate of interest on investments — 8%.
4

&oe.

4,40,000

2,30,000

10,000

6,80,000

(3¥02COA15)



(d) Rate of risk return on capital invested in business — 2%.

(e) Yearly remuneration from alternative employment of the proprietor — 3,600 (if not
engaged in business).

You are required to calculate the value of goodwill on the basis of 3 years purchase of
super profits of the business calculated on the average profits of the last four vears.

QrQ @33\» OBE 8 ddTeen 1308 JFOMT &id
(@) el DN JurreEdo - &°. 50,000.
(b)  DBEY HOTren :
2013, ergfdo — &, 12,200
2014, eg5do0 — &°. 15,000
2015, 3500 — 87°. 2,000
2016, ergsdoo — &°. 21,000
(©)  Deyuce P Dr78)0 By DG B — 8%.
) TReE0S” Deygad P BoraEHo D 8, 8e8) G — 2%.
(e)  OSresdrdy (HEoSTal & B0 FBE DHI0 — °.3,600 (F5RrE0S° DR GoEETB).
4 3058070 BI) e7Eo, 3 VoDBYT §TROR e esgrsore & 96 Dendtn B8 oHHw

UNIT IV

From the following particulars, show how the fixed asset (Machinery account) should be
shown in the balance sheet of a company as on 31.03.2015 and 31.03.2016 : -

z
(a) Cost of machinery as on 31.3.2014 2,40,000
(b)  Amount added on writing up of assets in June 2014 1,00,000
(¢) Additions made in 2014-15 12,000
(d) Cost of machinery sold in 2014-15 7,000
(¢) Additions made in 201516 21,000
(f)  Cost of machinery sold in 2015-16 11,000
(g) Depreciation provided upto 31.3.2014 65,000
(h) Depreciation in respect of machinery sold in 2014-15 3,000
(i)  Depreciation in respect of machinery sold in 2015-16 8,000
€)] Depreciation provided in 2014-15 ’ 15,000
(k)  Depreciation provided in 2015-16 20,000

(7]

(3%¥02COA15)



Ss (208 23070 31-3-2015 208akwn 31-3- 2016 38 Jog By, &) epe IGS® Jove
ADOBO TR e DTDFD.

5,
(@) 31.3.2014 % choes BwE), Devd 2,40,000
b) 2§ 2014 &° esx00% EODD BBHN 1,00,000
©  2014-15 S° ex5:53) §0R%e 12,000
@ 2014-15 &° @2y oo Devid 7,000
€)  2015-16 &° 535 SR 21,000
B - 2015-16 &° 295 oo dewsd 11,000
(®)  31.3.2014 58K Dovyen BID HHHSe 65,000
(h) " 2014-15 &° eays abogo Ererts B G 3,000
D 2015-16 &° @299 OO EreVH BHHS 8,000
0 2014-15 &° Jooyesn SR KOS 15,000
(k) 2015-16 &° Domyes DR BSHES 20,000

16. Following is the trial balance of ‘Sri Venkateswara Co. Ltd.” as at 31.12.15.

Particulars b ) Cr.
L4 L4

Opening stock 70,000 ,
Equity share capital 2,00,000
Rent, Rates, Taxes 12,000
Purchases & Sales ' 1,21,800 3,70,000
Discount allowed and received 3,000 4,400
Wages 1,10,400
Coal, Water 5,140
Buildings 1,60,000
Carriage 2,400
Debtors and Creditors 50,000 36,000
Purchase returns 4,250
Plant & Machinery 60,000
Goodwill 46,000
Advertisement 6,000
Bad debts 2,060

Debenture interest (Paid upto 30.06.2015) 1,250

6 (3*02COA15)



Particulars

5% Debentures
Bank overdraft
Loose tools
General expenses A
Salaries

Transfer fee

Insurance
Cash at bank

Adjustments :
(a) Closing stock — Rs. 70,000.

Dr. Cr.
L4 L4
50,000
34,000
12,000
8,800
20,000
200
2,000
6,000
6,98,850 6,98,850

(b) Depreciate plant and machinery by 10% and loose tools by 333 %.

(¢) Equity dividend 15% on share capital.

(d) Transfer ¥20,000 to general reserve and 25% for provision for taxation.

Prepare statement of profit and loss a/c.

31.12.15. & 8, Do¥EIRS Ko WBE T8 ok 1808 o &od.

DTV

SE0E5T) D
54&eed e SaTredPo

o , Bey, Tiyeo

§TR0R"e0 DB edysTen
GA7);060 RGO DB 08D
Vdaren

&K, ﬁ)q‘i)o

FARTI LISV

508

aeafgen 08ak aweTrden

§ R0 e TPS0en

ot Bakn oo

&S

BN |

Dr.
5.

70,000

12,000
1,21,800
3,000
1,10,400
5,140
1,680,000
2,400
50,000

60,000
46,000

Cr.

2,00,000

3,70,000
4,400

36,000
4,250

(3*02COA15)



18.

- DRTeEen S5, -
SEeoBen 6,000
orederSen 2,060
&BoDE D& (30.06.2015 H85 DYodR0) 1,250
5% GBS 50,000
2508 &D(ETR _ 34,000
D& HBEorew 12,000
AGeSes PBNOO 8,800
Deren 20,000
22650 BHROBD 200
Pdo° 2,000
SECEC 6,000

6,98,850 6,398,850

b%)zJ"éAJ‘:’) :
(a) B0 BB — 8. 70,000.
(b) BKHHBeR roen B choEo P10% Bckw H& H85Te 331 %.
(©) D% IreEHo D 15% Sedsed EaB0& ooyt DO,
(d) 8. 20,000 SpeSes Bazthgsd So80K0 $5:59) Jo=en 25% K 8 Db,
| P 2500 R00G erEdre JDBE 31-12-2015 & ©OBHI0g Vol T°E BASITK Doswdw.

UNIT V

Explain the important provisions of Sec. 43, Sec. 46, Sec. 54 and Sec. 55 of Companies Act,
2013 in respect of issue of shares.

Tere 288 5020809 502D Heo 2013 S° WES 43, WES 46, VES 54 2B ES 55 S
DPg DROEIOD DHBoHAW.

Give general instructions for preparation of Balance Sheet and Profit and Loss statement
under Companies Act 2013 (Schedule III).

Zod Be0 2013 (Schedule ITI) 808 e edye ;3@5 208050 ey daye DDBE B3B8

HOROBOID FTeSer ATV IDBododk.

8 (3*02COA15)



15.

16.

17.

18.

UNIT IV

Explain creating a table using design view and
form wizard view.

design view H080ln wizard view D &IBrRod
table 0 833065 Dases 9980Wod.

Or

Explain about parts of MS-Access with a block
diagram. .

az:g_éa? D08 MS-Access @Bk, Perey 8o
2980550

UNITV

In MS-Access briefly explain about reports.
MS-Access &° reports L350 9H8oHdw.

Or

Write the steps to display multiple data bases.
T BerBpdy G DASreeod Steds Frabod.

4 (30070AT15)

Time : Three hours

(30070AT15)

B.Com. (Res) DEGREE (CBCS) EXAMINATION,

OCTOBER/NOVEMBER 2018.
(Examination at the end of Third Semester)

Part 11 : Computer Applications »
OFFICE AUTOMATION TOOLS

(Regulation 2015 — 2016)

Maximum : 75 marks
SECTION A — (6 x 5 = 25 marks)

Answer any FIVE of the following questions.

Define a cell reference. What are the types of cell
references.

cell reference X0 dEDOWDI. Excel o8 DY) cell
references d0¢e3.
Explain the usages of formula bar in Excel.

Excel &° grererb Bn¥); HBraTroi 99803

How to change the row height and the column
width.

HED B HoBAL PN DY ATEN JerR’
(EFEasoB00.



'\]

What do you mean by sorting and filtering.
R‘ﬁgoﬁ 208a50 2)8805 DAL WHTD?

What is a chart? How to change data orientation
of a chart?

chart @Fﬁﬂ"?ﬁ&’b’?.chart &° data orientation éo“’d)()eo

2ET?

What are the advantages of macros?

Macros 903 9Bresrdoed?

Explain table wizard.

Table wizard 20 K8y D580HH.

Write steps for saving a query.

Query K0 DS DONEOS® Ko B0 [FPa0H0.

SECTION B - (5 x 10 = 50 marks)
Answer ONE of each Unit.
UNITI

Explain the applications of MS-Excel.
MS-Excel G¥); &R0587r08) 9580908,

Or

2 (30070AT15)

10.

11.

12.

13.

14.

Draw the block diagram of spread sheet and
explain formatting data in excel.

@éeﬁ @Bw¥), 2§ dgr oo AoLod. Excel &°
M&ﬁoﬁ e 998008

UNIT II
Explain working with formulas in MS-Excel.

Excel &° PR 3D 9H¥Bo0Vos.

Or

Explain format menu in MS-Excel.

MS-Excel-¢5° ;)@&5 05050 9HBoVOE.

UNIT III

Write a note on subtotals? What are the steps for
it?

subtotals X809 raod. 8° Ko &Een dD0es.
Or

How to create a chart using Wizard?

g &5BrRoD TFo e 1835 DAAeD.

3 (30070AT15)



